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1. Out of the following which activity/area

may not be considered as co-scholastic
aspect of leammer ?

(1) Social skill

(2) Attitude and values
(3) Creative skill

(4) Curricular subjects

Out of the following which is nof
related with 'Cognition’ 7

(1) Perception

(2) Thinking -

(3) Walking

(4) Concept formation

. A student learns new concepts such as

‘Camnivorous animal' on the basis of
words known by him such as tiger, dog,
lion, leopard ctc. This type of leaming
is known as what ?

(1) Combinational learning

(2) Subordinate learning

(3) Correlative learning

(4) Superordinate learning

. "Children's understanding that their

gender will not change even if they
adopt the behaviour, dress, or hairstyles

of the other gender This “type of
children's understanding is known as

what ?

(1) Gender identity

(2) Gender stability
(3) Gender consistency
(4) Gender stereotypes

P.T.O.
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What is the age group of late childhood

stage 7
(1) 210 6 years (2) 61o 12 years
(3) 4to 7 years (4) 11to 15 years

Assessment of all-round development
of the child’s personality is known as
which type of evaluation ?

(1) Continuous evaluation

(2) Comprchensive evaluation

(3) Above (1) and (2) both

(4) Neither (1)-nor (2) above

According to Bronfrenbrener, law and
customs are examples of which of the
following ecological system of child ?

(1) Micro systcm._(bj” Macro system
(3) Mesosystem (4) Exo system

Who was the propounder of N. D I
motivation formula?

(1) McDougall
(2) Hilgard

(3) Blair and Jones
(4) Maslow

Out of the following which alternative
shows characteristics of “"Concrete
Operational Stage" given by Jean Piaget ?
(1) Development of idea of 'cause-
effect relationship'” and ‘object
permanence’ in children,

(2) The child gains understanding of
principles such as conservation
logical thought emierges.

(3) The child begins 1o represent. the
world symbolically,

(4) Becomes capable of creating

several fnms of logical thought.
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10. Out of the following which ig not the
other name of childhood 7~ 7
o) Elementary school age

(2) Smart age
(3) Pre-gang age
{4}_ Gang age

11. Who proposed "Sociocultural Theory”
of cognitive development 7 .
(1) Jean Piaget (2) Lev Vygotsky
(3) J.S.Bruner (4) Kohlberg

12. Which word was used by Thurstone for
‘intelligence’ ?
(1) Primary Mental Abilitics
(2) Universal Mental Abilities
(3) Neutral Mental Abilitics
(4) Higher Mental Abilities

13. Which of the following is mef a defence
meghanism ?
) Identification
(2) Compensation
(3) Rationalisation
(4) Association -

14. Which of the following is mof an
element of emotional intelligence ?

(1) Entreprencurial compeience
(2) Sell-motivation

(3) Empathy

(4) Handling relationships

15. Characteristic of good adjustment is :

(1) Tolerance
(2) Lack of confidence
(3) Emotional unstability
(4) Irregular life habit
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16. The first psychological laboratory was
established by whom ?

(1) Galton (2) Cattell
(3) Pestalozzi (4) Wundt

17. "Inct}l‘pﬂmllun of new information into
existing mental frame works" is known
as what 7

(1) Assimilation
(2) Accommodation
(3) Equilibration
(4) Organisation

18. For the emotional development of his

_pupil the teacher should :
(1) Try to usurp the place of pupil's
parents.
(2) Develop love and affection for his
pupil. _
' (3) Take a loveable attitude towards
the mischief of the pupil..
~ (4) Show favours to f:w selected
pupils.

19. Which is not the cause of delinquency ?
(1) Physical defect
(2) Poverty
(3) Failure
(4) Proper home environment

20. ..ﬁ., type ?f intelligence which is mostly
visible in dancers, athletes, surgeons
elc., is known as what ?

(1) Bodily-kinesthetic mtclhg:noe
(2) Spatial intellipence

(3) Logical-mathematical
(4) Musical intelligence

inlellig:nce
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'Out of sight out of mind is
characteristic of which of the following
developmental stage ?

(1) Sensory-motor stage

(2) Pre operational stag;:

(3) Concrete operational stage
(4) Formal operational stage

Which is met the component of
motivation ?

(1) Needs
(3) Drives

(2) Rote Memory
(4) Incentives

Out of the following which is not the

other name of Adolescence ?

(1) Transitional period of childhood
and adulthood .

(2) Problem age

(3) Stage of stress, strain and storm

(4) Smart age

Out of the following which is nor the
type of group non-verbal intelligence
test ?

(1) Army Beta test

(2) Army Alpha test

(3) Chicago test

(4) Revence progressive matrices

According to Kohlberg "a stage of
moral development during which
individuals judge morality largely in
terms of existing social norms or rules”
is known as which level of morality ?

(1) preconventional level of morality
(2) conventional level of morality

(3) postconventional level of morality
(4) unconventional level of morality

P.T.0.
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26 -'IIﬁFI‘q # g8 v Pt e 4 o 26. A type of learning in which sludchnl.s t;]).:
Fftrm_arel & gergan to learn by emerging new rule throu
N R q:m :‘1;_;? R given learning material, is known as
B B, W T ¢ 7 " _
(2) et dramn (2) Meaningful learning
(3) HAfmmy dra (3) Reception learning
(A1 SR e (4) Discovery learning
27. Fefefes & @ Fmew Eﬁﬂ_ - 27. Out of the following alternative which
sEiEET @ gk 3 STl e does mot come under processes in
AME? socialization 7
(1) g &y i’r _LM% (1) learning to behave in socially
_FEER A de approved ways
) wriiE &9 A w9 et @) (2) playing approved social roles
HET -
(3) wrfve sl &1 R (3) development of social attitudes
M/Gim%ﬁﬂ BT i (4) egocentric behaviour
L Wﬂﬁlﬁ " 28. What is the approximate- 1. Q. rang:.*ni
& W i WX FER o g B 7 ~ Mangolism' mentally retarded children ?
(1) 208 25 (2) 20 % R (1) 20to 25 (2) below 20
25836  (4) 368 51 ~-(3) 25t0 36  (4) 3610 51
@. w ey fafy & ¢ 29. Pim:t method of personality adjustmient
' 15 - :
(1) s, (1) Sublimation
(2) sET. (2) Projection o
(3) w9 " (3) Regression
L(.tj/ mm.ﬁrmq. | (4) Removing of hurdles
30. fy=ffaa & & @F-ar W AW Iﬁﬂ 30. Out of the following whtch is fourth
_oTeTs & e # dhe ww 7 level of Taylor's level mm,,, of
(1) e GorTe; Sestvay ¢
(2) IUEH, GoIoTh (1) Expressive creatmty
3) xﬂﬁﬁﬂkqﬂw (2) Productive creativity
(3) Innovative creativit
(4) SR T 4
(4) Inventive creativity
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_r:r_:‘r:m'nn : Answer the following questions by selecting the most appropriate oplion.

46. Choosc the correcl preposition.

| had not slept or caten anything

PIOPEHIY <o iossrvivrnvoss two days
) since (2) from
(3) in (4) for
47. Fill in «the blank with the correct
option :
revernsennerss doing the cooking, 1 look
afier the garden.
(1) Beside ',(Qf However
(3) Besides (4) Therefore

%

48. Choose the correct synonym for the .

word given below :

Gallant’
'm’aliam (2) Impolite
(3) Rude. (4) Fearful

49. Choose the correct option for the

" underlined word.
Our parents have raised us to be a good
citizen.

(1) Brought up
nﬂ{ Brought by
(3) Brought out
(4) Brought down -

Level-2/4212

%

50.

51.

Choose the correct determiner.

knowledge is a dangerous

(1) The litlle
(2) Little

(3) A little

‘{4}/_'1'11:1 few

Choose the correct form of verb.

Did you not ..........ooie about the
world Atlas. .

(1) knew w2 known

(3) know (4) knows

Choose the correct passive construction

for the sentence given. '

We visited the zoo of Jaipur on last

Sunday. :

(1) Zoo of Jaipur were visited by us on
last Sunday. .

(2) On last Sunday the zoo of Jaipur
was visited by us.

(3 We were visited the 200 of Jaipur

on last Sunday.

(4) Zoo of Jaipur was being visited on
Sunday last by us.

P.T.0.
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§3. Cooking is his hobby. _ §7. Choose the correct antonym for the
The underlined word isused as a: word given below :
7 Verb (2) Gerund - Bankrapt_
(3) Participle (4) Inﬁnilivc (1) Penniless :
54. Choose the word which is _spelt ~ (2) Insolvent
correctly. - l' ) Mincd
'Q}')/C-:':mmilcd (2) Committed " (4) Solvent

1) Comitteed 4) Committeed . = o
ol o ™ 58. Fill in the blank with appro riate

§5. Fill in the blank by choosing the correct preposition.
aplon. _ _
I paid the bill .............. cash.
The Headmaster and the Sccretary _ . ;
................ present in the meeting, in . (@) at
- : 3) fi 4) with
(I} was ’ﬂi were { ) ar { } Wil

- (3) wasbeing  (4) werebeing - EB Chms# the correct mndal

-

56: Choose the most appn;prime form of 4 Sum: P"-‘DPlC Slﬂ btl'lct than

| Indirect speech for the given sentence. others.
The teacher said to Hari, "Why did you L(A‘]/ must .
not do your homework yesterday” ? : -
~ (2) can

. (1) The teacher asked Hari why had he

not done his homework the (3) could
previous day ? (4) should
(2) The teacher asked Hari why he had o _
not done his homework the 60. Choose the correct word for the sentence,
previous day ? " A man who is womanish in his habits,
(3) The teacher said to Hari why had (1) Arsonist
he not done their homework the 2\ Eni " R
previous day ? N0 (2) Epicure
(4) The teacher said Hari that he had (3) Effeminate
not done his homework the (4) Fealty
previous day.

Level-2/4212
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‘.\,!az.

. (3) 14 Km

Direction : Answer the following questions by selecting the most appropriate option.

Which is the correct conclusion based
on given statements ?

- Statement :

(A) All leaves are roots.
(B) Some roots are branches.

Conclusion :

(1) Some leaves are branches.
(2) Some branches are not roots.
(3) No branch is leaf.

(4) .Some roots are leaves.

Two persons depart from their office
towards their houses. First person goes
8 Km in north direction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km ) 12 Km
(4) 15 Km

What will be the angle between minute
end and hour end in a Clock at.7: 20 7

- (1) 160° (2) 100°
(3) 260° (4) 120°
Complete the following Series :

WE, SG, PJ, LN, IS, ?
(1) FZ (2) FX
(3) EY (4) EX

P.T.0.
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65. PRl w@fe W ¥ GRANT #H
UOBSIL #& T, TIME # FNJU e
W, @ PRIDE Ft 41 $gl SQm ?

(1) QSIJEF (2) OQIICD
ua( FEJSQ (4) TPMED

66. ﬁﬂaﬁwﬁmﬁmﬁm:

DHL, PTX, BFJ, ....

(1) CGK (2) KOS
W2y NRV (4) OVZ
67. & F@ e 8,500 §,

T T 20% 3

25% g g, @
wmm?

Mz,?sn |

{4) 112,550

(1) 10,950
(3) 11,950

laﬂﬂﬂmwzaﬂﬁln%?ﬂﬁmﬂ

A SagiE W 7 HER E #@ S
1 8w ?

(1) 150 599
(3) 210 592

(2) 180 &R
(4) 316 59

Msm}mﬁmmﬁr*ﬂﬁa\iﬁ
21,460 594 & 9 &, mqﬂmﬁa&ﬂ

FE?
1) 4% . 2) 10%
- 3) 6% 4) 8%
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68.

69.

In a code language GRANT is written
as UOBSH, TIME is written as FNJU
how is PRIDE written in that language ?

(2) OQHCD
(4) TPMED

(1) QSJEF
(3) FEISQ
Find the next term of the following
Jetter series ; ;

DHL, PTX, BFJ, ...
(1) CGK (2) KOS
(3) NRV (4) OVZ

The population of a town is 8,500. In
first year it was increased by 20% and

~ in second year again increased by 25%, -

then what is the total population after

.o two years ? o,
(1) 10,950 (2) 12,750
(3) 11,950 (4) 12,550
What is the difference between

Compound in}c;'nsi and Simple interest '
on the amount of Rs. 18,000 in 2 years

“with the rate of 10% per year ?_

(1) Rs.150
(3) Rs.210

(2) Rs. 180
(4) Rs.316

The total amount of Rs. 14 200 with
simple interest in 6 years is Rs, 21,460,
find out the Rate of interest per annum ?
(1) 4% (2) 10%

(3) 6% (4) 8%
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70. O BOAER Gu 4 el Fma: 20 70. ‘The sides of a triangular farm are 20 m,
1, ?I AIZT 29 TireT # ﬁ'ﬂ ki 21 m and 29 m respectively. How much
15 57 oot frex # 2x & v e will be total cxpenses for cutting the erop
7 = F ] at the rate of Rs. 15 per square meter ?
(1) 210039 (2) 1,890 574 (1) Rs.2,000  (2) Rs. 1,490
(3) 3,15059  (4) 2,500 594 (3) Rs.3,150  (4) Rs.2,500
71. % fFEe Ha #, 6 fawfedl # ofmw @ 71. Average runs of 6 players in a cricket

Her 36 4 o T | us A A
16 T 79 B, @ 9 fawfsdl #
oen ™ e P g 7
(1) 24 @) 30
(3) 36 @) 40

72. Freifafaa sfae & 90 #t

24, 60, 120, 210, ?
L(2) 270
(4) 500

(1) 336
3) 512

73. @ 9@ T @ Y & o H A

74.

6 : 7% o a4 @ F 364 FER A
Zd a9 H, @ F0 4 =W a5

(1 60 B (2) 72 Redea
(3) 78 e (4) 84 Rt

Beft @idfes 9T # “go home” # "ta
na" FF AT “sweel home" F "na ja"

homeN 21 5@ @ "Sweet and Sour” # "pa sa
%Ja"ﬁmﬁ“wiﬁzﬂw?

73.

74.

match was 36. If one player made 16
runs, then what is the average runs of

remaining players ?
(1) 24 (2) 30
(3) 36 (4) 40

Complete the following series :

24, 60, 120, 210, 7
(2) 270
(4) 500

(1) 336
(3) 512

The ratio of speeds, of a Bus and Car is
6 : 7. If car covers 364 Km distance in
4 hours, what is the speed of Bus ?

(1) 60 Km/h (2) 72 Km/h
(3) 78 Km/h (4) 84 Km/h

In a certain code language "go home” is
wrilten as "ta na", "sweet home" is
wrilten as “pa ja", "Swecl and Sour” is
written as "pa sa ja", then how "Sour” is
coded as ?

(1) pa (2) sa " (1) pa (2) sa
(YT () na (3) paorsa (4 ma

75. & ®EAl &SI 3 : S ¥, W TH 75. The ratio of two numbers are 3 : 5 and
e 240 B, demsl @ dwIC F the addition of those numbers is 240,
Fm? ' what is the difference of those numbers ?

(1) 60 (2) 100 (1) 60 (2) 100

(3) 120 4) 90 (3) 120 (4) 90
Level-2/4212 P.T.O.
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ol sl % 60% 1 3/5 7% 36 7, @
=irmmm=rﬂ17m?

I
(1) fﬂ?"’ (2) 100
)

(4) 150

#f2 DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, CAR =7

(1) 3 6

(3) 8 (4) 16

A B faasr fll @ 3115 B
A w70 2, wEE 1B aEen 78 20 B

i g T %, A adagg wH A
fam fem & wra &om 1
(1) 60 (2) 45

(3) 40 (4) 30

azdl 41 wF i d aFm 9l e |

ﬂmwwhﬁmmﬁﬁx'ﬁ? "

18 = W %) o o § ey
1% e %, A P F el e
1 d dar =M W ¥ o3 dm A

i wgd s 0 B 7

& o

(4) 49

(1) 41
(3) 48

P % @ i di ad & 7
(1) 1800 (2) 1900
(3) 1700 (4) 2000

. o 3 P gt e (dm)

£?
(1) 9
(3) =

(2) 9=
(4)
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76.

78.

80.

81.

1f3/5 of 60% of a Number is 36, then

the value of the number is :
(1) 60 (2) 100
(3) 120 (4) 150

If DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, then CAR =7

(1 3 (2) 6

(3) 8 (4) 16

A and B together can do a work in 15
days, if B alone can do that work in 20 .

days. Then how many days will A take
o do same wurk_ alone 7
(1) 60 (2) 45

(3) 40 (4) 30 .

- Anil is standing at 16th position from

the left end in a row of boys. Vikas is at
18th position from the right end. Gopal
is 11th from Anil towards the right and
3rd from Vikas towards the right end.
How many boys are standing in this

row 7
(1) 41 2) 42
(3) 48 (4) 49

Which of the following is a leap year ?
(1) 1800 (2) 1900
(3) 1700 (4) 2000

How many Administrative divisions are
there in Haryana ?
(1) Four

(3) Six

(2) Five
(4) Seven
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mﬁwﬂmﬁﬁwm&i 82.

w foa, ?ﬁ%
(1) 11,‘651‘1
(2) Hei
(3) wiEmER
e

83,/ T o S T @ e § 7 83.

(1) 35 =
w2y e
(3) Tm™
(4) e

84, 3 A8 TR A il aaﬁmé' '1\&‘ 84.

F A TSt B & 7

(1)o7 gl
waf i o

(3) FET A
(4) RN A

85. Prer o gEr Tl B W A w7 85.

B
(1) gl
) e
(4) v
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The city of Haryana, which is not part
of National Capital .chi on:

(1) Gurugram

(2) Sonipat

(3) Faridabad

(4) Hisar

Gurugram is related to which ancient
Guru ?

(1) Ved Vyas

(2) - Dronacharya

(3) Parashuram

(4) Krpacharya

Who is the brand ambassador of 'Beti
Bachao-Beti Padhao Campaign' in
Haryana ?

(1) Anu Kumari
(2) Sakshi Malik .
(3) Kalpna Chawala
(4) Sainla Nehwal

The ‘dishict which does mof share
boundary with other states is :

(1) Panipat
(2) Rohtak
(3) Rewari
(4) Palwal

P.T.O.
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y . : etween
0. % 3 s o R || s e S
1) T (1) Yamuna
) (2) Ganga
@{m (3) Sahibi
(4) AR (4) Markanda
g87. wau Rig ¥ it & faw Fe1 fEE 87 Where Pratap Singh revolted against the
e o ? ' British ?
(1) e 2 #E (1) Rohtak (2) Jind
m/ T (4) (3) Ambala (4) Sirsa
88. A B eeEIT Hol 8 7 '88. Where is the National Cancer Institute
== . situated 7
(1) W . ":‘ (1) Sampla
@) " -~h L (2) Mcham -
- 3) 7 [ (@ Bidsa E{
(4) TR (4) Kalanaur '
89, @il T fE © : - 89. Sohna town is famous for : -
(1) Wefes da & g (1) Historical Lake
(2) tRvefys m=a & T (2) Historical Palace
3) ™ 7w B ¥ & R (3) Hot water Springs
(4) it & fog (4) Gardens
90. T # T 9y # 90. State animal of Haryana is :
L Fo (1) Black buck ,
(2) R Ris | (2) Asiatic Lion
(3) Riw (3) Chinkara
(4) W (4) Tiger -
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